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COMMON FIRST MID-TERM TEST - 2023

Standard - 11 Reg. No. L_J 1] —ﬂ
Time: 1.30 b MATHEMATICS
et Marks: 50
PART - 1
Choose the best answer: 10x1=10
1) IFn(A} = 2, n(BuC) = 3 then n[{AxB) (AxC)] Is
a) 2? b) 3 ) 6 d)s
2) The range of the function ﬁ i5
1 i 1"
BH"_'Uulj-"] b) &TL'*EJ '
¢) [‘L %J dﬁ{-:,-i}u[%;"}
3) LetX={(1,23, 4yand R = {(1, 1), (1, 2), (1, 3), (2, 2), {Sr 3'}-" (2, 1).(3, 1),
(1,4), (s, 1)}. ThenRis
a) Reflexive b) Symmetric c) Transitive~, \d) Equivalence
4) Letf: R—R be defined by f(x) = 1-|x|. Thén the(rarge of f is
a)R b) (1, =) ) {=Lr) d) (-=, 1]
5) The solution set of the following inequality (x~1] = [x-3|
a) [0, 2] b) (2, =) cIO, 12) d) (-=, 2)
6) The value of l0g 5 512 is
a) 16 b) 18 ¢y 9 d) 12
1-2x A '
nIr 3+ 2 . e .§+l'" thien the value of A+B is
5 5 b 5 93 a3
8) LetX={1,2 3,4:%={a b, cd}andf={(1,a)(4,D),(2c) (3 d)(24)}
then 1 is
a) an one-to-one function b) an onto function
¢) a fupction which is not one-to-one  d) not a function
9) Thé'Quadratic equation which roots are 7 and -3 is
a) x2+4x-21=0 b) x2-4x+21 = 0
¢) x2-4x-21 = 0 d)x?+4x+21=10
10) If a and b are the roots of the equation x?~kx+16 = 0 and satisfy a’ +b® = 32,
then the value of k IS
a) 10 b} -8 c) -8, 8 d) 6
PART-I1
Answer ANY FOUR questions: Qn.No. 16 Is compulsory. 4x2=8
11) IfFA={1,2,3,4)and B = {3, 4,5, 6}, Find n[(A.B)x(A~B)x(AAB}].
12) Let f and g be the two functions from R to R defined by f(x} = Ix-4 and

g{x) = x%+3, find gof,

Kindly send me your study materials to padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

2 ' K1 - Mathematics

13) Prove log a + log a? + log a? + ........ + loga" = Mn—zt-illoga

14) Find the radius of the spherical tank whose volume is % cubic units,

15) Find the zeros of the polynomial function f{x) = 4xZ-25,
16) If P(A) denotes the power set of A, then find n{P(P(P($))))
PART - III
Answer ANY FOUR questions: Qn.No. 22 is compulsory. 4x3=12
17) 1fn[P(A)] = 1024, n{AUB) = 15 and n[P(B)] = 32 then find n{A~B)?

19) LetA = {a, b, c}, what is the equivalence relation of smallest casdinality on
A7 What is the equivalence relation of largest cardinality on A7

20) Solve: 3(x-2) 5(2-x) |

5 3

21) Resolve into partial fractions:

x+1
(x=2)(x+1)
22) Write f{x) = x2+5x+4 in completed square form,
PART - IV
Answer ALL the questions: 4x5=20

x?+x-5 ; xe(-=0)
x? +3x=2 ; xe(3, =)

x? ; xe(0,2)
:2-3 » Otherwise

23) Write the values of at -3, 5,2, <1,/0 if f(x) =

W (OR
If f: R—+R is defingd by f{x) = f‘!x-g. Prove that f in a bijection and find its
inverge.
24) Iff, g : R—+R be defined by f(x) = 2x-|x| and g(x) = 2x+|x]|. Find fog.
(OR)
. 1

i+ X +
Resolve the fallowing rational expressions into partial fractions: = T

25) If one'rapt of Kljx-ljz = 5x=7 is double the other root. Show that K = 2 or
K= 25, (OR)
X =3
Find all the values of x that satisfies the inequality x-Dx-4°

26) In a survey of 5000 persons in a town, it was found that 45% of the
persons know language A, 25% know language B, 10% know language C,
5% know languages A and B, 4% know languages B and C, and 4% know
languages A and C. If 3% of the persons know all the three languages. Find
the number of persons who knows only language A.
(OR)
Solve the equations J&. =X a X+ &
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